AC

Wznios
frame size
56M

63M
7M™
80M
90S
90L
100L
112M
1328
132M
160M
160L
180M
180L
200L
225S

225M
250M
280S
280M
3158
315M
315L
355M

355L

90 45 7 36 9 20

2/4
2/4
2/4/6
2/4/61/8
2/4/61/8
2/4/61/8
2/4/61/8
2/4/61/8
2/4/61/8
2/4/61/8
2/4/61/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/61/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8

100
112
125
140
140
160
190
216
216
254
254
279
279
318
356
356
356
406
406
457
457
457
457
508
508
508
508
508
508
610
610
610
610

50
56
62,5
70
70
80
95
108
108
127
127
139,5
139,5
159
178
178
178
203
203
228,5
228,5
228,5
228,5
254
254
254
254
254
254
305
305
305
305

DH

80
90
100
100
125
140
140
140
178
210
254
241
279
305
286
311
311
349
349
368
368
419
419
406
406
457
457
508
508
560
560
630
630

40
45
50
56
56
63
70
89
89
108
108
121
121
133
149
149
149
168
168
190
190
190
190
216
216
216
216
216
216
254
254
254
254

11
14
19
24
24
28
28
38
38
42
42
48
48
55
60
55
60
60
65
65
75
65
75
65
80
65
80
65
80
75
95
75
95

AD
T 11 =
Bl

| |

L

£ 1] L

=

@ %5

1V N -

A/2 [l K

2>

23

30

40

50

50

60

60

80

80

110
110
110
110
110
140
110
140
140
140
140
140
140
140
140
170
140
170
140
170
140
170
140
170

@ 0 00 O U h~h W

10
12
12
14
14
16
18
16
18
18
18
18
20
18
20
18
22
18
22
18
22
20
25
20
25

8,5
11,0
15,5
20,0
20,0
24,0
24,0
33,0
33,0
37,0
37,0
42,5
42,5
49,0
53,0
49,0
53,0
53,0
58,0
58,0
67,5
58,0
67,5
58,0
71,0
58,0
71,0
58,0
71,0
67,5
86,0
67,5
86,0

63
71
80
90
90
100
112
132
132
160
160
180
180
200
225
225
225
250
250
280
280
280
280
315
315
315
315
315
315
355
355
355
355

7,2 56 5,8

7,0
7,0
10
10
10
12
12
12
12
15
15
15
15
19
19
19
19
24
24
24
24
24
24
28
28
28
28
28
28
28
28
28
28

B3

ﬂ

115
135
150
165
180
180
205
230
270
270
320
320
355
355
395
435
435
435
490
490
550
550
550
550
635
635
635
635
635
635
730
730
730
730

110
130
145
158
177
177
198
220
259
259
315
315
355
355
397
445
445
445
485
485
547
547
547
547
620
620
620
620
620
620
698
698
698
698

100
115
127
140
160
160
172
190
210
210
255
255
280
280
305
305
335
335
370
370
410
410
410
410
530
530
530
530
530
530
655
655
655
655

156
180
195
220
255
255
270
300
345
345
420
420
455
455
505
5460
560
560
615
615
680
680
680
680
845
845
845
845
845
845
1.010
1.010
1.010
1.010

199
230
255
300
330
360
400
435
470
510
615
660
700
740
770
815
820
8453
920
920
995
995
1.045
1.045
1.185
1.220
1.290
1.325
1.290
1.325
1.500
1.530
1.500
1.530

M4x12
M4x12
M5x12
M6x16
M8x19
M8x19
M10x22
M10x22
M12x28
M12x28
M16x36
M16x36
M16x36
M16x36
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42



MOLL - MOTOR

=

P

AC

LT

GC

DH

]

[

63M
71M
80M
90S
90L
100L
112M
1328
132M
160M
160L
180M
180L
200L
2258

225M

250M

280S

280M

3158

315M

315L

355M

355L

2/4
2/4
2/4/6
2/4/6/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/6/8
2/4/61/8
2/4/61/8
2/4/6/8
2/4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8
2
4/6/8

100
112
125
140
140
160
190
216
216
254
254
279
279
318
356
356
356
406
406
457
457
457
457
508
508
508
508
508
508
610
610
610
610

50
56
62,5
70
70
80
95
108
108
127
127
139,5
139,5
159
178
178
178
203
203
228,5
228,5
228,5
228,5
254
254
254
254
254
254
305
305
305
305

80
90
100
100
125
140
140
140
178
210
254
241
279
305
286
311
311
349
349
368
368
419
419
406
406
457
457
508
508
560
560
630
630

40
45
50
56
56
63
70
89
89
108
108
121
121
133
149
149
149
168
168
190
190
190
190
216
216
216
216
216
216
254
254
254
254

1
14
19
24
24
28
28
38
38
42
42
48
48
55
60
55
60
60
65
65
75
65
75
65
80
65
80
65
80
75
95
75
95

23

30

40

50

50

60

60

80

80

110
110
110
110
110
140
110
140
140
140
140
140
140
140
140
170
140
170
140
170
140
170
140
170

@ 0 0 O O A~ W

10
12
12
14
14
16
18
16
18
18
18
18
20
18
20
18
22
18
22
18
22
20
25
20
25

Wznios do 200

frame size up to 200

Wznios biegun.

8,5
11,0
15,5
20,0
20,0
24,0
24,0
33,0
33,0
37,0
37,0
42,5
42,5
49,0
53,0
49,0
53,0
53,0
58,0
58,0
67,5
58,0
67,5
58,0
71,0
58,0
71,0
58,0
71,0
67,5
86,0
67,5
86,0

63
7
80
90
90
100
112
132
132
160
160
180
180
200
225
225
225
250
250
280
280
280
280
315
315
315
315
315
315
355
355
355
355

7,0
7,0
10
10
10
12
12
12
12
15
15
15
15
19
19
19
19
24
24
24
24
24
24
28
28
28
28
28
28
28
28
28
28

100
115
130
165
165
165
215
215
265
265
300
300
300
300
350
400
400
400
500
500
500
500
500
500
600
600
600
600
600
600
740
740
740
740

95
110
130
130
130
180
180
230
230
250
250
250
250
300
350
350
350
450
450
450
450
450
450
550
550
550
550
550
550
680
680
680
680

140
160
200
200
200
250
250
300
300
350
350
350
350
400
450
450
450
550
550
550
550
550
550
660
660
660
660
660
660
800
800
800
800

10
10
11,5
12
12
15
15
15
15
19
19
19
19
19
19
19
19
19
19
19
19
19
19
24
24
24
24
24
24
24
24
24
24

3
3,5
3,5

w W
hOIU’I

O O O O O O O O O O oo g grgr g g g gara g g MBS

Wznios 225 do 355
frame size from 225 up to 355

115
135
150
165
180
180
205
230
270
270
320
320
355
355
395
435
435
435
490
490
550
550
550
550
635
635
635
635
635
635
730
730
730
730

130
145
158
177
177
198
220
259
259
315
315
355
355
397
445
445
445
485
485
547
547
547
547
620
620
620
620
620
620
698
698
698
698

100
115
127
140
160
160
172
190
210
210
255
255
280
280
305
305
335
335
370
370
410
410
410
410
530
530
530
530
530
530
655
655
655
655

156

180 230
195 255
220 300
255 330
255 360
270 400
300 435
345 470
345 510
420 615
420 660
455 700
455 740
505 770
5460 815
560 820
560 8453
615 920
615 920
680 995
680 995
680 1.045
680 1.045
845 1.185
845 1.220
845 1.290
845 1.325
845 1.290
845 1.325
1.0101.500
1.0101.530
1.0101.500
1.0101.530

M4x12
M4x12
M5x12
M6x16
M8x19
M8x19
M10x22
M10x22
M12x28
M12x28
M16x36
M16x36
M16x36
M16x36
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42




MOLL - MOTOR

Wznios
frame size
56M

2/4
63M 2/4
71M 2/4/6
80M 2/4/6/8
90S 2/4/6/8
90L 2/4/6/8
100L 2/4/6/8
112M 2/4/6/8
132 2/4/6/8
132M 2/4/6/8
160M 2/4/6/8
160L 2/4/6/8
180M 2/4/6/8
180L 2/4/6/8
200L 2/4/6/8
2258 2/4/6/8

2

225M 4/6/8
2

250N 4/6/8
2

2808 4/6/8
2

280M 4/6/8
X 2

3158 4/6/8
X 2

315M 4/6/8
X 2

315t 41618
X 2

355M 4/6/8
. 2

3954 4/6/8

* dostepny tylko jako V1

biegun.
poles

9
11
14
19
24
24
28
28
38
38
42
42
48
48
55
60
55
60
60
65
65
75
65
75
65
80
65
80
65
80
75
95
75
95

20

23

30

40

50

50

60

60

80

80

110
110
110
110
110
140
110
140
140
140
140
140
140
140
140
170
140
170
140
170
140
170
140
170

* only in mounting position V1

@ 0 00 o U h~h W

10
12
12
14
14
16
18
16
18
18
18
18
20
18
20
18
22
18
22
18
22
20
25
20
25

DH

7,2
8,5
11,0
15,5
20,0
20,0
24,0
24,0
33,0
33,0
37,0
37,0
42,5
42,5
49,0
53,0
49,0
53,0
53,0
58,0
58,0
67,5
58,0
67,5
58,0
71,0
58,0
71,0
58,0
71,0
67,5
86,0
67,5
86,0

100
115
130
165
165
165
215
215
265
265
300
300
300
300
350
400
400
400
500
500
500
500
500
500
600
600
600
600
600
600
740
740
740
740

s

Wznios do 200

frame size up to 200

80
95
110
130
130
130
180
180
230
230
250
250
250
250
300
350
350
350
450
450
450
450
450
450
550
550
550
550
550
550
680
680
680
680

nu
120 7 3

140
160
200
200
200
250
250
300
300
350
350
350
350
400
450
450
450
550
550
550
550
550
550
660
660
660
660
660
660
800
800
800
800

10
10
11,5
12
12
15
15
15
15
19
19
19
19
19
19
19
19
19
19
19
19
19
19
24
24
24
24
24
24
24
24
24
24

3
3,5
3,5
3,5
3,5

F N

O O O O O O O O O O oo g g o g o o a a g oa a b~ b~ b

Wznios 225 do 355

frame size from 225 up to 355

m.

110
130
145
158
177
177
198
220
259
259
315
315
355
355
397
445
445
445
485
485
547
547
547
547
620
620
620
620
620
620
698
698
698
698

100
115
127
140
160
160
172
190
210
210
255
255
280
280
305
305
335
335
370
370
410
410
410
410
530
530
530
530
530
530
655
655
655
655

156
180
195
220
255
255
270
300
345
345
420
420
455
455
505
5460
560
560
615
615
680
680
680
680
845
845
845
845
845
845
1.010
1.010
1.010
1.010

L
199
230
255
300
330
360
400
435
470
510
615
660
700
740
770
815
820

8453
920
920
995
995

1.045

1.045

1.185

1.220

1.290

1.325

1.290

1.325

1.500

1.530

1.500

1.530

M4x12
M4x12
M5x12
M6x16
M8x19
M8x19
M10x22
M10x22
M12x28
M12x28
M16x36
M16x36
M16x36
M16x36
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42
M20x42




B34F1

*ﬁF«
M
o —{ wouw-woron ——| o 8%
{—.—.— o] DH
5 = D
E_|I_C B
L

Wznios biegun.

2/4 3 115 110 100 156 M4x12
63M 2/4 100 50 80 40 11 23 4 8,5 63 7,0 75 60 90 M5 2,5 135 130 115 180 230 M4x12
71M 2/4/6 112 56 90 45 14 30 5 11,0 71 7,0 85 70 105 M6 25 150 145 127 195 255 MS5x12
80M 2/4/6/8 125 62,5 100 50 19 40 6 155 80 10 100 80 120 M6 3,0 165 158 140 220 300 M6x16
90S 2/4/6/8 140 70 100 56 24 50 8 20,0 9 10 115 95 140 Mé 3,0 180 177 160 255 330 MS8x19
90L 2/4/6/8 140 70 125 56 24 50 8 20,0 9 10 115 95 140 M6 3,0 180 177 160 255 360 M8x19
100L 2/4/6/8 160 80 140 63 28 60 8 24,0 100 12 130 110 160 M8 3,5 205 198 172 270 400 M10x22
112M 2/4/6/8 190 95 140 70 28 60 8 240 112 12 130 110 160 M8 3,5 230 220 190 300 435 M10x22
1328 2/4/6/8 216 108 140 89 38 80 10 33,0 132 12 165 130 200 M10 3,5 270 259 210 345 470 M12x28
132M 2/4/6/8 216 108 178 89 38 80 10 33,0 132 12 165 130 200 M10 3,5 270 259 210 345 510 M12x28

Wznios biegun. *

2/4 3 105 115 156 199 M4x12
63M 2/4 100 50 80 40 11 23 4 8,5 63 7,0 100 80 120 M6 3 135 130 115 180 230 M4x12
7M™ 2/4/6 112 56 9% 45 14 30 5 11,0 71 70 115 95 140 M8 3 150 145 127 195 255 M5x12
80M 2/4/6/8 125 625 100 50 19 40 6 155 80 10 130 110 160 M8 3,5 165 158 140 220 300 M6x16
90S 2/4/6/8 140 70 100 56 24 50 8 20,0 9% 10 130 110 160 M8 3,5 180 177 160 255 330 M8x19
90L 2/4/6/8 140 70 125 56 24 50 8 20,0 9% 10 130 110 160 M8 3,5 180 177 160 255 360 M8x19
100L 2/4/6/8 160 80 140 63 28 60 8 24,0 100 12 165 130 200 M10 3,5 205 198 172 270 400 M10x22
112M 2/4/6/8 190 95 140 70 28 60 8 24,0 112 12 165 130 200 M10 3,5 230 220 190 300 435 M10x22
1328 2/4/6/8 216 108 140 89 38 80 10 33,0 132 12 215 180 250 M12 4 270 259 210 345 470 M12x28
132M 2/4/6/8 216 108 178 89 38 80 10 33,0 132 12 215 180 250 M12 4 270 259 210 345 510 M12x28



B14F1

F <
M
T
(@]
al =z e O
DH
e —— D
E
L
Wznios biegun. .
2/4 3 100 156 M4x12
63M 2/4 11 23 4 8,5 75 60 90 M5 2,5 130 115 180 230 M4x12
71M 2/4/6 14 30 5 11,0 85 70 105 M6 2,5 145 127 195 255 M5x12
80M 2/4/6/8 19 40 6 15,5 100 80 120 M6 3 158 140 220 300 M6x16
90S 2/4/6/8 24 50 8 20,0 115 95 140 M6 3 177 160 255 330 M8x19
90L 2/4/6/8 24 50 8 20,0 115 95 140 M6 3 177 160 255 360 M8x19
100L 2/4/6/8 28 60 8 24,0 130 110 160 M8 3,5 198 172 270 400 M10x22
112M 2/4/6/8 28 60 8 24,0 130 110 160 M8 3,5 220 190 300 435 M10x22
1328 2/4/6/8 38 80 10 33,0 165 130 200 M10 3,5 259 210 345 470 M12x28
132M 2/4/6/8 38 80 10 33,0 165 130 200 M10 3,5 259 210 345 510 M12x28

Wznios biegun.

2/4 3 105 2,5 110 100 156 M4x12
63M 2/4 11 23 4 8,5 100 80 120 M6 3 130 115 180 230  M4x12
71M 2/416 14 30 5 11,0 115 95 140 M8 3 145 127 195 255  M5x12
80M 2/4/6/8 19 40 6 155 130 110 160 M8 3,5 158 140 220 300 M6x16
90S 2/4/16/8 24 50 8 20,0 130 110 160 M8 3,5 177 160 255 330  M8x19
90L 2/4/16/8 24 50 8 20,0 130 110 160 M8 3,5 177 160 255 360  M8x19
100L 2/4/6/8 28 60 8 24,0 165 130 200 M10 3,5 198 172 270 400 M10x22
112M 2/4/6/8 28 60 8 24,0 165 130 200 M10 3,5 220 190 300 435  M10x22
1328 2/4/6/8 38 80 10 330 215 180 250  M12 4 259 210 345 470 M12x28

132M 2/4/6/8 38 80 10 330 215 180 250  M12 4 259 210 345 510  M12x28
1. B5-Flange 9. Inner bearing cap DE 17. Rear endshield 25. Cable gland
2. B14-Flange 10. External bearing cap DE ~ 18. Fan 26. Terminal board
3. Front endshield 11. Bearing 19. Fan cover 27. Bolt
4. Frame 12. Stator 20. Screw 28. External Bearing
5. Key 13. Inner bearing cap NDE 21. Spring washer cap NDE
6. Oil seal 14. Nameplate 22. Fan clamp 29. Circlip
7. Bolt 15. Rotor 23. Terminal box lid 30. Wave washer
8. Spring washer 16. Gasket 24. Terminal box base 31. Feet



Czesci silnika

Y3HE

1. Kotnierz B5 9. Dekiel wew. tozyska N 17. Pokrywa tylnia 25. Dtawiki

2. Kotnierz B14 10. Pokrywa zew. fozyska N 18. Wentylator 26. Listwa

3. Pokrywa przednia 11. Lozysko 19. Pokrywa wentylatora 27. Sruby

4. Korpus 12. Stator 20. Sruby skrzynki 28. Pokrywa zew. tozyska PN
5. Klin 13. Dekiel wew. tozyska PN 21. Podktadka sprezynujgca 29. Seger

6. Simering 14. Tabliczka 22. Seger 30. Podktadka sprezynujgca
7. Sruba 15. Wirnik 23. Dekiel skrzynki 31. tapy

8. Podktadka sprezynujgca 16. Uszczelka skrzynki 24. Skrzynka





